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1) What is the first proof of Hxynw» 29 227 that "p1 1wha o7x 790> 2a9w5"?
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2) Explain the question of the &n3, "21 2597 172 220 &5 AwR"?

3) What is the answer of the x7n3?

4) According to this answer, why is it considered suitable for the 7m0 to write about a woman

riding on a 5nx?

5) Why is it considered unsuitable for the 71710 to write about a woman riding on a horse?

6) What is the question of the xamx from the P05 of "vann H¥ 02997 "3 WK DX Twn npn"'?

7) What is the answer of the x23?

8) The x nx then asks a question from another s, "mn v nao x°m", where we find the

concept of 2017 in regards to a woman. Explain the first answer of the X137

9) Explain the second answer of the x123?

10) Explain the third answer of the & n?
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